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8.1 Vertical Angles ,
etc

.

Linear Pair
,

Complementary Angles
, Angle Bisectors

Standard :

G.CO . 9
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0¥ Angles

Let's recall the different types of angles .

toutedbrighttnge <

Obtuseangleshasananglemeasuring hasanangk measuring hasanangle measuring
between O°and90°

. exactly 90 ? between lo°and1W

Also ,
let's recall the notation of angles .

KT rookta ¥c > %IL C

< Xtanglex .

. < K×L Hpangk×

. < Lxctrightanglex

NEWT

Complementary
& Supplementary Angles

Complementary Angles Supplementary Angles
Paint pmangles that sum airs of angles that sum

to 900
. of 180 ?

Example)qµ  -120¥
. straight line angle adds upto18°

. linear pair is 60%120 ?
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Angleton : Araylorllneorsegmentlthat divides an angle
into 2 Congruent angles tangles with equal measures )

.

⇒
'

Faisananglebisector

AX= < KXA  E< AXL so m<kXA=m< AXL
.x.

[Examples] Answer the following .

�1� Find the angle .

@Findtheanyg#

yo -

£ yt35°=

1800×+30=0
y= 145

× = 600
�4� Find the angle .

�3� Find the angle .

620  530g 1270#¥×Ei zs2x€x5×+2+2×+3=1800
51251+2=127

5×+2+2×+4=90 {fYh+tHE6g:
5×+2×+2+3=1800

21251+3=53
5×+2×+2+4=9007×+3=18007×+6=900

- 6 =  - 6
- 6=-6 -

¥ts¥
t¥t¥

X=12

X=2S
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Examples] Find the missing angles .

5%
isananglebisect

K•7
x=7o°

70 A#⇐
.

% isananglebisector .K¥72×+8=4×+2213+8=140×#t2A
,-8=-82×+142x=4x -6 < KXA=14°C

> -4x=tt < AXL -

- 140

¥#
×=3
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teens
Let's consider the below diagram .

⇐¥•7g
,

Ykxxhjg: Find the missing angles .

' Since a&b area linear pair , they are 61800 ( atb=lNY
.

what about < Axclrdxc ?

< Axcisalinearpairto < KXA
.

< Lxcisalinearpairtock 'll
.

So
,

e AXCT b=18o° ( a=1so - b) So
,

< LXC + =< KXL .

Therefore ,
< Axc=a . Therefore

,

<%c=b
.

•Kdol•7 Vertical angles
° ° ( or Opposite angles)* b

are congruent .*0

• a •

L C )
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[ Example]Findmis$h9M9k5
given < k×L=3o ?

•K30°l•7 ( =zo° <k×L=<Axcarevertialangles .*¥.ba#si:IiYixifiYxYarenhF%aamn
L c ) or < KXA=< Lxcarverlicalangles .

:

azxt8l•7
Given < KXL -2×+8 & < AXC= 4×+2

€¥ l6b°4×+2=2×+8 213+8=140
4×+2 • -2=-2onv C ) 4=2×+6
140

- 2x=-2¥¥ z

< KXL=14° ×=3
.

< AxC=H°
< KXA=16b°

< L×C=166°


